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A1 Solve A2 Solve A3 Solve A4  
x + 5 > 11 4x + 11 ≤ 29 7 – x ≥ 15 Work out the integer values of x that 

satisfy both the inequalities 
3x – 4 ≤ 11   and   2x + 3 > 9 

B1 Solve B2 Solve B3 Solve B4  

  

2x +5
3

> 7   
6x + 3 ≤ 2x + 19 3x + 9 < 4x + 5 Work out the lowest integer which 

satisfies the inequality 
5x – 2 ≥ 3x + 7 

C1  C2  C3  C4  
List the integer values for x if: 

–3 ≤ x < 4 
List the integer values for x if: 

–5 ≤ 5x ≤ 15 
List the integer values for x if: 

4 ≤ 3x + 1 < 12 
List the integer values for x if: 

2x < 3x + 1 < 13 

D1 Solve D2 Solve D3 Solve D4  
x2 – 7 < 42 3x2 – 17 < 31 5x2 – 13 ≤ 32 List the integer values for x if: 

2x + 3 < 4x + 5 ≤ 3x + 7 

 




